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o A - Choosec the correct answer bwtween the brackets:
o I( have- has- had) a new car now.

:: 2.We (have —had- has ) an old house last year.
. 3.Adonkey (has- have -is) a strong leg.

:: 4.Thay (have- has )a new house.

. 5The cat ( have -has)a long tail.

:i B-Make negative and question for each of the following sentence:
o 1-.She has a new dress.

: 2-.He has a car.

. 3-.He had a big house.

: 4-.The dog has along hair

o 5-.The horse has a strong leg.
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6-1 have headeache

THE PRESENT
SIMPLE TENSE

(s-es)

EX1-:He likes fish. -

(es) (sshchox) -

(He-She-It)
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